 (
Pre-AP Computer Science        
     
Jeroo
 Lab – 
TeamWork
 Project
   Lab Value - 10
0
)Lab Goal:    Analyze the problem and use basic decision making in creating a solution for the problem. You must determine how and when to turn, and most importantly when to stop. Use Loops and if commands based on the requirements of this problem. 
Lab Description:  This lab requires you to use 4 Jeroos. The Gardner Jeroo must do all of the planting. The other Jeroos are helpers in that they are carrying flowers for the Gardner. The Gardner must use all of the flowers that he/she is carrying before another Jeroo can supply him/her with more flowers. The Gardner is done when all of the flowers are planted.
 (
algorithm
 help
Preconditions 
When do I turn?
Which way do I turn?
When do I stop?
How do I move?
      
Postcondition
 
Successful hop through the maze
Gardner 
Jeroo
 
has planted all flowers
All 
Jeroo
s
 
are out of flowers
) (
Files Needed:
Adventure
Start
.jsc
Adventureisland.jev
)
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{© main method [ Jeroo methods

fucchod nain()

¢
Jeroo Gardner = new Jeroo(]:
Jeroo Flowersl = new feroo(13,12,NORTH,SS)
Jeroo Flowersz = new Jeroo(1d,22,VEST,51);
Jeroo Flovers3 = new Jeroo(15,12,50UTH, 57 ;

Gardner.bridge(];
Floversl.giverlovers(];

7/ Gardner. tum (LEFT) ;
Gardner. garden(] ;
Floversz. giverlovers();
Gardner. turm (RIGHT) ;
Gardner. garden(] ;
Flovers3. giverlovers();
Gardner. garden(] ;
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